PORT, :hager

Product Environmental Profile
Trunking base in PVC for trunking distributor

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version No PSR issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Accommodate the wiring along 1 metre for a Reference Service Life of the product of 20 years. The
BRN65170A9016 installation trunking with cross-section 9130 mm? includes only the profile specifically cut in order to
accomodate small distribution board, without any additional fittings and accessories.

Use scenario based on :
PSR product Category : No PSR The functional unit is based on the use scenario recommended by the PCR for the category of the reference
/ product.

PEP ecopassport 1/5 HAGE-01459-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
g % ] % ] %
PVC 1596.89 58.0% Silicon 0.23 <0.1% Cardboard 722.05 26.2%
PC 109.80 4.0% Wood 65.53 2.4%
ABS 109.80 4.0% Titanium dioxide 44.37 1.6%
PE-LD 23.81 0.9% Calcium Carbonate 38.00 1.4%
HI PS 9.00 0.3% Melamine cyanurate 24.40 0.9%
PE-HD 4.90 0.2% Other 3.41 0.1%

Total m.ass of reference product with raw material 275217 g
packaging :
Total mass of reference product

(Product + packaging) 262102l

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

End of life Module D

o
c
B 2 8
<] 2 o 23 =
5 E - . £ £ e | 28 g
" < 2 2
= 2 o k) ° 3 3 =1 2] > o w 2
Sol| s o % = s = ° o z £ 2 T 3
c = =
g c c 2 235 55 Sg I c c 25 2% s 290 [T 88
<92 © ] c T 2 c o ] ol S8 = £ ® ® T =
IR =1 f=3 c c [ = = o = = [ S E
29 € 2 g0 S o L = I T £ ® E® g = S 3 S > 4 1=
T Q © S 5% = 35 S o e = o o ® ] Qo 2 ] 52
= 9 ES = 2° Lo a s 2 @ 8 ] £ 3 o3 =z @ £ ) =3 @
S 3 = =1 =) T Q © c = 17} =l 5 2 = s} @ o>
L s ° = [} ° = [1'4 o8 S 5 > c T Q@ Q =7
T 5 = 5 ° 3 R 5 2 I 9] ¢ g ge @ 7} = e B o
E g € = os = oa = 14 ] SIS fa) '_2 gt c £
H a o ) o 2 [ )
T @ IS IS o JE = = 2 o ® ® oy}
x c = = 2 o < L3 o
'g ] = [} >
o o
2
S]

B3 B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.
and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation
Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.
This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time

0 0.0% 0 100.0% 0 0.0% 0 0.0% 0 100.0%

This corresponds to a total energy consumption of 0.00 kWh for the use span of 20 years.

Energy model of the use phase :

Consumables and maintenance :
None

PEP ecopassport 2/5 HAGE-01459-V01.01-EN



Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 19%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.3-9 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0
PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation

A1-A3 A4 A5
Europe Europe

End Of Life

C1-C4
Europe

Environmental impact indicators

Indicators Unit

Acidification (PEF-AP) mole H+ eq.

Climate change - Total (PEF-GWP)

kg CO2 eq.

Climate change-Biogenic (PEF-GWPb)

kg CO2 eq.

Climate change-Fossil (PEF-GWP) kg CO2 eq.

Climate change-Land use and land use change
(PEF-GWPIu) g Coz Ry

Ecotoxicity, freshwater (PEF-CTUe)

EF-particulate Matter (PEF-PM)

diseases

Eutrophication, freshwater (PEF-Epf)

kg P eq.

kg N eq.

Eutrophication, marine (PEF-Epm)

Eutrophication, terrestrial (PEF-Ept)

mole of N eq.

Human toxicity, cancer (PEF-CTUh-c) CTUh

Human toxicity, non-cancer (PEF-CTUh-nc) CTUh

lonising radiation, human health (PEF-IR) kg Bq U235 eq.

Land use (PEF-LU)

Ozone depletion (PEF-ODP)

Photochemical ozone formation - human health
(PEF-POCP)

Resource use, fossils (PEF-ADPf)

Resource use, minerals and metals
(PEF-ADPe)

Water use (PEF-WU)

Resource use indicators

Indicators Unit

Net use of fresh water

Total primary energy

Total non renewable primary energy

Total renewable primary energy

Non renewable primary energy used as energy

Non renewable primary energy used as raw

Use of non renewable secondary fuels

Renewable primary energy used as energy

Renewable primary energy used as raw material

Use of renewable secondary fuels

Use of secondary material

m3
.
material

PEP ecopassport

Manufacturing Distribution Installation [VETY End Of Life

A1-A3 Ad ‘ A5 B1-B7 c1-ca ‘ el ‘ MocuelD
6.91E-02 7.10E-04 2.33E-03 0.00E+00 5.22E-03 7.74E-02 -6.00E-05
1.17E+01 4.50E-01 1.83E+00 0.00E+00 2.45E+00 1.65E+01 -4.24E-02
-5.24E-01 1.84E-06 1.09E+00 0.00E+00 1.22E+00 1.79E+00 -1.69E-03
1.23E+01 4.50E-01 7.33E-01 0.00E+00 1.23E+00 1.47E+01 -4.07E-02
1.49E-04 6.80E-07 5.61E-09 0.00E+00 1.99E-08 1.50E-04 0.00E+00
1.01E+02 1.31E+01 1.03E+01 0.00E+00 1.82E+01 1.42E+02 -5.05E-02
4.32E-07 6.10E-09 1.37E-08 0.00E+00 3.68E-08 4.89E-07 -1.33E-09
1.26E-04 1.68E-06 1.01E-05 0.00E+00 8.62E-07 1.39E-04 -1.79E-07
9.52E-03 1.29E-04 9.47E-04 0.00E+00 1.37E-03 1.20E-02 -1.28E-05
1.24E-01 1.41E-03 6.98E-03 0.00E+00 1.77E-02 1.50E-01 -1.52E-04
1.49E-06 8.81E-11 8.04E-08 0.00E+00 6.37E-10 1.57E-06 -8.63E-12
9.48E-08 1.68E-09 2.25E-09 0.00E+00 7.66E-09 1.06E-07 -1.11E-10
8.33E+00 1.59E-02 1.07E-01 0.00E+00 2.49E-01 8.70E+00 -2.85E-03
2.52E+00 1.92E-03 2.50E-03 0.00E+00 3.12E-01 2.84E+00 -1.95E+00
1.44E-06 5.46E-09 1.08E-08 0.00E+00 4.49E-08 1.50E-06 -7.68E-10
3.10E-02 4.57E-04 1.59E-03 0.00E+00 3.81E-03 3.68E-02 -4.47E-05
2.55E+02 7.99E+00 7.59E+00 0.00E+00 1.39E+01 2.85E+02 -4.45E-01
2.71E-06 1.60E-07 3.92E-08 0.00E+00 4.02E-07 3.31E-06 -2.45E-09
5.73E+00 1.62E-02 6.40E-02 0.00E+00 1.22E+01 1.80E+01 -1.01E+00

Manufacturing Distribution Installation [VET) End Of Life

A1-A3 A4 ’ A5 B1-B7 C1-C4 | el | poctielD
1.34E-01 3.77E-04 4.89E-03 0.00E+00 3.98E-01 5.37E-01 -3.36E-02
3.10E+02 8.01E+00 8.62E+00 0.00E+00 1.50E+01 3.41E+02 -7.37E-01
2.55E+02 7.99E+00 7.59E+00 0.00E+00 1.39E+01 2.85E+02 -4.45E-01
5.44E+01 2.52E-02 1.02E+00 0.00E+00 1.15E+00 5.66E+01 -2.93E-01
2.13E+02 7.99E+00 7.59E+00 0.00E+00 1.39E+01 2.43E+02 -4.45E-01
4.20E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.20E+01 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
4.02E+01 2.52E-02 1.02E+00 0.00E+00 1.15E+00 4.24E+01 -2.93E-01
1.42E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.42E+01 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

3/5 HAGE-01459-V01.01-EN



Waste category indicators

Indicators

Hazardous waste disposed
Non hazardous waste disposed

Radioactive waste disposed
Output flow indicators

Indicators

Components for re-use

Exported energy
Materials for energy recovery

Materials for recycling
Biogenic carbon content

Packaging

Biogenic carbon content (ratio)

Biogenic carbon content (declared unit)

Biogenic carbon content (functional unit)

Extrapolation rules

Manufacturing D

A1-A3

istribution
Ad

Installation

A5

B1-B7

C1-C4

| (VET:Y |

End Of Life |

GLOBAL

3.59E-01 1.88E-03 4.23E-02 0.00E+00 6.63E-01 1.07E+00 -6.29E-06
2.26E+00 4.17E-02 2.11E-01 0.00E+00 8.90E-02 2.60E+00 -2.90E-03
6.77E-04 3.31E-05 4.81E-05 0.00E+00 3.67E-05 7.95E-04 -2.39E-06

Manufacturing D
A1-A3

istribution
A4

Installation
A5

C1-C4

End Of Life ‘

GLOBAL

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
2.99E-02 0.00E+00 6.43E-02 0.00E+00 2.70E-04 9.44E-02 0.00E+00
6.87E-02 0.00E+00 5.54E-01 0.00E+00 2.46E-03 6.25E-01 0.00E+00

Cardboard

2.80E+01 3.78E+01 3.95E+01
7.22E-01 3.03E-03 6.55E-02 7.91E-01
2.02E-01 1.15E-03 2.59E-02 2.29E-01
2.02E-01 1.15E-03 2.59E-02 2.29E-01
ADEME APESA/RECORD EN 16485
apo d Pape ood
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Registration N°: HAGE-01459-V01.01-EN

Drafting Rules

PEP-PCR-ed4-2021 09 06

Supplemented by

No PSR

Verifier accreditation N°:  VH35

Information and reference documents: www.pep-ecopassport.org

Date of issue: 12-2025

Validity period:

5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :
The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a

concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.
The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport

4/5

HAGE-01459-V01.01-EN



Appendix

[kg CO2 eq.]

R) - [kg Bq U235 eq.]

(PEF-GWP) - [kg CO2 eq.]

Land use (PEF-LU)
Is for energy recovery - [kg]

y, freshwater (PEF-CTUe) - [CTUe]
Exported energy - [MJ]
(PEF-ADPe) - [kg Sb eq]

ation, freshwater (PEF-Epf) - [kg P eq.]
Total primary energy - [MJ

Components for re-use - [kg]
Hazardous waste disposed - [kg]
Net use of fresh water - [m3]

Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, minerals and metals
Total renewable primary energy - [MJ]
Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq.]

=
8
+

T
2
S
E
o
5
u
w
=
<
S
3
=
b}
S
<

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Climate change-Fossi
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]
Non renewable primary energy used as energy - [MJ]
Non renewable primary energy used as raw material - [MJ]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]
Renewable primary energy used as energy - [MJ]
Renewable primary energy used as raw material - [MJ]
Resource use, fossils (PEF-ADP) - [MJ]
Total non renewable primary energy - [MJ]
Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]

lonising radiation, human health (PEF-|

Climate change-Land use and land use change (PEF-GWPIu)
Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC eq.]

DM

(= BN oovc| 1] soieon| vaseir| sanear] oooeso] 1oreoa] vzseos] osreos] raeor| aooso| sweor| 1useos) osscos| sssern| zsreo| 2omea| owreor] vsieor| szsein| zvee| aren| rueos] aseor| siear| wrear| o] | 2sen] arieos| 2sseie| sve| sueer| omeo) omeno) osocin| srsen

=)

=

S ML INOEII 7oeoe| o] ssneon| 1sneon| ssocor| ovoeon| senn| vsseos| roneca) vszeon| omoeon| soeor| voseas| vvier| sazeno) evsein| sveae| rasear| ssueon| 2oreo) ausee| asser| vioeon| sosear| susea] asseos| asser| vasen| zssee| sreeoo) zameia) sszee| osven| ooesan| ooneol ooneo) ssrenn

©

5 RO sooeor| 1semn| ssmeor] 1ern| sovcor| oooson| rosena| vuseos] 1sseon] vazeor| ovoevn| woneon| vsreas| 1meor| ssvero) 2ovcn| svse| rmews| ruseor] 2ueol 2uea] awcir| rrseon| soear| sseor] asreos] aser| vuscor| o] sueos] 2uea) suseia] esseir| o] ooneo] omeo) ssern

=

g ELCEONEIRER ooscoa| 1oeior| rorcon| vaneion| woseor| ovoeio oomeian| reos| soeon 1aican| aomon| asoeor] 1ssca| sason| rereic zromiao| soneoe| ssscoa] 1suear| soveion| comeioa] sonesen| rason| ssreor| sonean| woseos| ssveior| srocier| 2weia] 2voeoo] saesen| aoieia| srseie| ooneson| acoein| omeiol soseiam
ELETTXIIIN ssvecz roeor| suseor| 1siean| sseor| owoewo] 1azea| roeor| rioeoz) vsseon| ooomon| asieor] zoves| rareor| sweo) 2| sosor| ssser] 1rzean| zweon| eree) aosean| roveos| ssreor| ssrewr| sworos| ssseon| ime| sweca] sszeon] sosee| ssoeoa| roaeion| oovesso| oooeon] oseio] 7ssean
IENCEPRIVRCIREN ozscoa| rooeor| 10c0| 1ancion| 1o2eou| ovoeio vaneiaa| rovens| svacoa] vuncan| aomon| szoeor] vrsca| 1eor| roseio| ssneao| sooe| ameo] 1amear| zovcion| csieia] wosan| 1reos| srcor| sroeen| reseos| ammeior| voreser| svaeia] azeoo| soaesen| sveia| osseio| ooneson| acocin| omesol oroesan

c <

ot DERNEEREEER rioeos| sseor| rsiwoo| asueor| saneor| owoewo] 1sien| roneos| ra0mos] 1ureas| ooomon| raseos) sarena| voseos| rsopoa) 1sueas| wooeon| owoewoo) srrean| avar| reseio] ooveo| saseos| sroeoo) asrean| soveos| 2seeoa) oovesso| roven| vsoeer| rosesso| sovewn| 2szeea) oovesso| oooeon] oseo| 1szesz

=

2 ELCANOEIIN osrcos| wsoeor| rorcoo sszeor| oosor| ovoeioo] 1aseian| roson| rz0cos] 1sseas| aomon| roseon) aser| vosos| rsocoa] 1sseas| aoomon| oweeioo] srocan| wroeoa| rescioo] oonesao| sos| ssocoo) ssscan| saseos| 2ureoa) oonesan| roscin| rsocor| roseson| rorein| 2ereoa) ooneson| ococin| omesco| 1ssean

k7] RO coeor| woeor| 1seos] awseor| arocor| oooson| rasemn| veseo| szreos] s0eos| ovoevon| raseas| swren| vaseoo] vsreoa) voseon| ooomon| oooeso| srieos] avieon) rovein] oooevon| svean| someoo| asoeos] szseos| ausece| ooveun| raseico| 1sser| raveiol resein| zasece| o] ooneo| omeic] rscor
LCEONEIRER orscor| woreor| rseoo szrean| oaseor| ovoeioo] saseian| roneon| 1z2eos] 1suca| acomon| 170es) oarer| voneos| rsreoa] 1asca| aoomon| owoeioo] samean| soseoa| rsseico] oonesao| siecos| sroeoo| saucan| suueos| 2sseoa) oonesan| rsocin| rszeor| sonesan| rorein| 2sseoa) ooneson| ococin| omeico| 1ssean
EEEICII osocor| sweor| 2veo] ssoeo| sorcor| oooeon| rssemn| ssveos| 1soeos) roscos| ooocvn| ameas| voueo] 1smeoo voreoa) azos| oooron| oooeso| wues] asreon] ouoern] ooocvn| sazean| vineos| sseos] swocos| 2osca| ooocun| suveseo| 1sseor| oumewol ousern] zosce| oceuan| ooneo| omerco] rvrcer
INCEPRIVACIRE orco| woocor| 2oicoo] ssncan| rsseor| ovocio 1aseian| voscon| ruocos] 1area| acomon| 20ocon) orser| rosos| r7ocoa) araca| aooon| oweeio| srecas| wooeoe| omicioo] ooneseo| soeon| arscoo| soncas| soscos| 2rocoal oonesan| ssicin| 17ocer| soseson| asrein| 2rscoa) ooneson| ococin| omeso| 1rsean

cw

R ML 2vc 1oseo) 1] rsscor| soan| oooeso| 1oneion| voreos| swreor| soseon| ococo| azsea| oameon] 2aseos| roreor| aseas| sweor| saieor] asoeos) aveor| rsvcon| oeo| rumeos| 1sreon| vsocon| ameas| soreaof ooneo| reseic] svzcon) rsocun| woren| sosesso| ocneio) omero) osocrn| sucean

=

= ELCINNAOEIIN owocoo| roocon| roseioo] razcan| soncos| ovoeioo] 1oneian| roreos| suscos| osmcas| acomon| szacoa osucas| zaseos| roreor] asmeas| esoeoe| ssoeor| samcas| aveor| rsseico] oonesao| roscon| rs7eoo| 1sseas| woreos| someioo] oonesan| 7socin] asrcoo] soseson| asicin| sazeio oonesan| ococin| omeio| sasean

o]

]

2 LTI 2 veos| o] 1oneio] r32601| soocos| oooson| rosemn| soreos| osscon] wreos| ooocvn| wrmean| soueao| raseon| voreor| asocos| suese| sor| wmeos| 2vieor| rovern] ooocvn| rosean| 1sveco| 1sseon) swrcos| roacun| ooocun| rssesoo| sareon] rsvenol sorcrn] sorcun| ocosuan| ooneo| omerco] seor
LCENEIRI occoo| zoveon| 1soeio ozsean| roreos| ovoeio 1areian| raneos| 120000 orcas| acomon| sz0coa| 1omear| zoseos| rsseor| swacas| roscoe| asocor| orecas| zoreor| osseioo] oonesao| 1emon| r7acoo| aovcas| soneos| 1aseioo] oonesan| osocion| sszcoo] osmesan| ovcior| 1aveil oonesan| ococin| omeio| ooncan
ELEEICIIN 2occos| 20| 130] ozreon| rascos| oooson| rvemn| sareos| 1z06s) awrees| ooocvn| sovean| vorear| 2meos| vioror| ssocos| wosese| roseon| orseos] 2sseon| owrenn| ooocvn| rvan| 1rueoo| 2mmes) oreos| vsvevn| ooocun| soreseo| someon| ourero] 1soeer| ssrevn| oceuan| ooneo| omerco] siseor
INCEPRIVRCIRIN sscoo zoseon| rerewo] ouscan| raneos| ovocio] 1aaeian| roneos| 1z2000] snca| aomon| swocoa] 1oucar| soveos| wsocor| szmeas| smeoe| rroeor| ozmeas| arosor| ommesco| ooneseo| 1oseon| rrscoo| aoscas| sameos| 1azeio] oonesan| orrein| soucoo] orresan| vieior| sazeio oonesan| ococin| omeso| vasean

O~

e | MERNERRLTIEIRIN oo oo| oocuoo| ooneuso] ooueio] osoeoo] ovocon| ooossan| ooveuso| ooueio] omeroo] osoeon| ocogvon| aooeuaof oonew osmero] osoeoo| ococon| aoocsao| oonesso| oonero] ouneroo] ocoeon| acorsan| aonesso| ooneio) omeoo] osoeon| ooeen| ocoesan| oonei] omeoo] omeon| ocoeen| ocossan| oonesso| oonero) oo

S

5 IELEROTSLEER oscio| osocon| ooosian| aooesso| ooneo] osmero] osoeoo| ococson| aooesaof ooneso osueo) oaneoo] osoon| aoocsan| oovesso| ooneo] oaneoo] osoeon| ooocson| aooesan| ooneo] osnero] oaneon| ococon| aooesan| oones osueo] oaneoo] oocon| ooocan| aooesen| ooneo] oameoo] osoeon| ooocan| oooesen| ooneo
LTI o oovon| oooeuso] ooueio] omeroo] ovoeon| ooosson| oooeusof oone] osmer] osoeoo] ocoeon| aoossan| oonesso| oonewo] omeoo] osoeon| ooosvon| aooessof oonesco] omeoo] ouoeon| ocoeon| aoocsan| oonesso| oonero) ouneroo] osoeon| oooean| wooesan| ooneo) omeoo] osoen| ocoren| ocoesan| oones ommero) oo
ELOSAVNEEIN o ocoo| oooeuso] ooneo] omoo] socon| ooossan| aooessof ooneo] osmero] oaneoo| cocvon| aooesan| oonesso| osueo| osneoo] osocon| aoocsan| aooesao| ooneo] osmeo] oaneon| ococon| aooesan| ooneso osueo| oaneoo] osocon| aoocsan| aooesen| ooneo| oaneco] osoeon| oooccn| ocossan| ooneol osueo] oaneoo
ELEIATTTOTIN o oovon| oooeuso] ooueio] omeroo] ovoeon| ooosson| oooeusof oonei] osmero] oooeoo] ococon| aoossao| oonesso| oonewo] omeoo] osoeon| ooorsan| oooeuso| oonesco] omeoo] ouoeon| ocoeon| aoocsan| oonesso| oonero) oumeroo] ocoeon| ooocun| wooeson| ooneso) omeoo] osoern| ocoeen| ocossan| oones] ommero) omeco
TRNCPRIVACIRIH o coc-oo| oooeuso| ooueo] omoo] oocion| ooossan| aocessof ooneo] oseero] oaneoo| ococvon| aooesan| oonesso| ooueo| oaneoo] osocon| aoocsan| aooesao| ooneo] osmeo] oaneon| ococon| aooesan| ooneso ooueo] oaneoo] oo on| aoocsan| aooesen| ooneo| oaneco] osoeon| oooccn| ocoesan| oonesol osueo] oaneco

o<

ENOIN BN s22c 2esevo) 1z2e00] aseon| sonean| oooenso| vaseo| ssaeor| vorean| srece| o] suseor| ool roscos] aueer| sozeor| armeos] ruscor] swocor| soon| oven| ooneso| auseos| ssocos| swieas| soras| o] ooneo| 1ewo| vzeor] ssveir| o] ssseo] ooneio) omeno] osocvn| o

— 7

= =

to RSN MG TNOREM -owcoo| osoeiso] romon| ovacon| ozscao| aoorion| ozoeion| vosca| 1aan| roocoa) oonesso| sarear| azsciol ovieas| soveor| swscor] soucas| aress| ssocoa] 1rocar| ssieor| omeio] saveas| saseon| sucos) ssmcas| oieon] omeo] rsreser| roseor| ssren| voseor] sieon] omero] oonesan| ococin] sarein

e

2 ELOCTIN socos| 20| 1neo] sraeon| 2ascon| oooeon| aaoemn| soveos| 1zses) oscoa] ooocvn| wmean| saueio| arieos| sooror| wscon| sosear| ameas| ssmeoa] vioeor] vsrerr| ooocvn| svean| suseo| suueor] asscos| 1svenn| o] ssvesen| vameor] vsieion| voscrr| ssresn| o] ooneo] omei] 1avenn
ELEERNEIEIR zocoo| roicon| zseio] oorcan| roncon| ovocio] 1oueian| sroeor| oveon) 1area] acomon| ssscor] saneo| eroeos| 2sveor| sascan| soseos| 2rreon) suncan| sarece| vaveion| oonesao| soseon| 2oocoo| asmcas| srocos| soei] oonesan| szscir| roscor| rancior] soreir| 1socio oonesan| ococin] omei] rascian
CIEEITCIN s socos| 2seo] 1omeo] osreon| aurcon| oooesn| sazemn| suneoo| 13s60s) rocoa| ovocvn| sorean| sareco| vsmeos| szocor| sueon| sosear| armes| sureoa] vzveor| voseror| ooocvn| srocon| smcoo| srseos) swreos| ruscrn| ooocun| soseion| aoseor] veseuo| veoeer| susen| o] ooneo] omero 1usenn
INCEPRIVACIRIN oovcoo zoocon| rascioo] 1oreiso| zoscon| ovociol avacian| roreon| 1socoo| ammca| acomon| rs0cor| oraeo| soreon| 2oscor] samer| zroeor| 2uscon) sancar| roscor| vemeion| ooneseo| sosmon| szocoo| sascas| wascos| sascioo] oonesan| cacir| szscor| 1eamiar] rscin| sascioo] oonesan| acocin] omeio raseran
EIRNCHRATREIRIN o oocos| 42cc02] 1one00) soreon] ovoeon| wooteon| sosean 1rseor] 1zoe0s] sacos| ooocwon| samen| susea] vieo] avseos) ssern| ooorn| oooesso| ssseoa) asoron) useor| oooevn| rosero] vsneos| aureos) asoeos| aosor| ooven| wssean| auseon] ssseor| areor| aoor] o] ooneo] ommeno] 1orenn

=

= BR65170A7035 [ [ P e e R e B R B R B R e B e B R B e B e R e e R R R R B e B R s R e s

<]

= RO s ocos| 20602| 22s60) 230602] ovoeon| oootson| o sscoa ssmeoo] voreos) ocos| ooocwon| oseas| seea| raen| swicos| woreor| oooren| oooesso] 4rreos) maeon) soreor| oooewn| rmesof suseo| ssmeos) swoeos| aveca| o] serean| sameos) soreor| socor| avese| o] ooneo| omewo) soreor
ELCITNEEIRII s2scos| 2socoe| -220000| 2ancaa ooomion| ovoeio] ssseaa| ssomon| roreos| 1sscan] aoomon| oscos| saseaa| gosest| ao1c00] sorcan| ocomon| osoeioo] wrreas| woiesn| sereon| oonesan| o] suseo] soucas| soeon| s2coa] oonesan| sreor| z0c00) sercar| sveor| 52c0a] oonesen| ococin| ommei] sercan
EIEEIICIN s ocos| 2se02| 2meon] use0n] ovoeon| oooeon| osseon| sameoo] 1sueos) zocos| ooocwon| szeas| samea| ossen| sooeos] wsscor| oooron| oooesso| someoo) sroeon) soueor| oooeon| roserof soreo| azeos) szseos| ameca| ooocn| souear| ssmeos) soucor| racor| amece| o] ooneo| omewo) soseor
(EINCEPRIVACIRI oscos| «ancoe| -170000| saca| ooocion| oooeio) sascaa| 1s0r| 120005] 1sucan| aoomion| z0c00] rscia| 11ocso| -200000) 1onesao] aoomon| oo vsacan| soeen| sureon| oonesao| Toseso| sscoo) wsrcas| 2oneon| 200cor] oonesan| wwreor| 2uscon) warcan| rascor| 2s0cr| oonesan| ococin] oameio) 4oocian

PEP ecopassport 5/5 HAGE-01459-V01.01-EN



